Class Notes by Aditya Ranjan Sir
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Important Formula

1). (a+b) =a®+2ab+b

2). (a-— b) = a* —2ab + b°

3). (&> —b") = (a+b)a—b)

4). (a+b) =a®+b’+3ab(a+b)
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9).(a+b+c)
= (a2 + b” +cz) + 2(ab + bc + ca)



VBODMAS Rule:

Vinculum > Brackets > Of > division > multiply > addition > subtraction




'COMPLETE |, \:¥¥: K COURSE (For all govt. ex: sy ADITYA RANJAN SIR

1; The value of 2 x 3 + 2 0of 3 x 2 +
(4+4x4+@ofd)-4+4x4)is
SSC CGL'Y June 2019 (Morning)

2A3=208%%2 + 2
= ZARL L Rl 1

b) 1
:/w@X/-‘gxle = 4t WL \"xgﬂzc; 4

> Q) 4’1:gc/”’/

4T9XU~ 16-4-YxY (a) 8



MATHS COURSE (For all govt. exams ) By ADITYA RANJAN SIR
1. Thevalueof 2 X3 +20f3 x 2+

!,4/9/(4 Cof@-4/4»e4rr

1Kz =1 €SC CGL 4 June 2019 (Morning)

(a) 8
(b) 1
(c) 4
(d) 2
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7 o 2 1
2. The value of 2 — +L .’ ;Of 2 —
7

8 » 3
F 1 22
6 1 2 S o B
W s 2 —of 4 — | ad%2 *
%#%fzxm,ﬁ— g _( 5 3)><9 -
x 3 > SSC CGL 4 June 2019 (Evening)
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1
(@) o (b) 4

1
(©) 53 ) 5



'COMPLETE | \,/:Y§: &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

o\ 1ol SVro, 4. The simplified value of
— (1.0025+6.25x10° ) _
1:002S is :
5.0600 0625\ 0.0025 +0.95 |
SSC CGL 9 June 2019 (Evening)

1-0025062S

= . < (a) 1.0025
G355 \%:b) 1.0525
Lafldit Y\ £ (c) 1.0005
gﬁg —o1xy L 2 (d) 1.0505




comPLETE W BN cous

4-S-20+2

Thezvalue of 4.5 - (3.2 + 0.8 x 5)
+ 3 X4+ 61s
SSC CGL 10 June 2019 (Afternoon)

_d) - 13.5 (b) 4.2

(c) - 8.5 (d) 5.7
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11. The simplified value of

Ry o ( 1 3) 8

2 K s e

= ";, °575)"s

G i 1 e

_j/)(_i 11+<6_(1+1)> .

7 |7 \7 5)

- J5

= h\" SSC CHSL S July 2019 (Afternoon)
13 . 13
64 ®) 16
13 o 13

() g @



'COMPLETE | \,/:Y§: &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

S S5.75x8.75%x5.75+3.25x 3.25 % 3.25
7 12. C.s_z.s x57.5+32.5%x32.5-57.5x32.5

1S equaI to :
—'0,65 = 0-09 SSC CPO 12 March 2019 (Evening)
(a) 0.009 (b) 0.0009

(c) 0.9 __1450.09



'COMPLETE |, \:¥¥: K COURSE (For all govt. ex: sy ADITYA RANJAN SIR

3 1 [, 1 (41 3)
— 2—-1- 4—— 2—""'—
®. V5 * 1" { 3 \“2 4 }_|

is equal to :
SSC CGL 13 June 2019 (Evening)

15
(a) 5~ (b) 3

39
(¢) 5~ (d) 4



comPLETE W BN cous

36.

‘or all gc PX3 BY ADITYA RANJAN SIR

;
31 3) 8

.5 5 5

1 (5 (1 1)”
1—+<1—+ }
7 |7 \7 3)

.

The value of is

SSC CHSL 8 July 2019 (Morning)

19 19
(@) 5 (b) T¢

19 19
(€) ga (d) —
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o b
46. The value of xls'“'@x&s"

11.86
n.. 2 (VQ(D\-H,) B ia
“ou-h M SSC CHSL 11 July 2019 (Morning)

(a) 23.62 by 25
= Aatb (c) 26 (d) 24.12




'COMPLETE |, \:¥¥: K COURSE (For all govt. ex: sY ADITYA RANJAN SIR

63.5 X 63. 5X63 5+36 S X36.5%X36.5

— CG 35%x6.35+3.65x3.65-6.35%3.65
is :

0000 SSC CPO 13 March 2019 (Evening)

_ 42'10,000 (b) 1,00,000

(c) 100 (d) 1,000




'COMPLETE |, \:¥¥: K COURSE (For all govt. ex: sy ADITYA RANJAN SIR

675 %675 X 6‘;5 + 3\25 X 325 % 325
67.5 {67.5 +32.5x32.5-67.5x32.5
equal to :
|ppo X |0° SSC CPO 12 March 2019 (Morning)
(a) 100 (b) 10,000
(c) 1,000 \/Ld')/ 1,00,000

06. is




'COMPLETE | \,/:Y§: &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

82. IfA=40+8 +5%x2-4x35o0f3
and B = 24 - 4(4 + 2) + 19 of 2,
then what is the value of A - B?

SSC MTS S August 2019 (Morning)
(a) -11 (b) 11
(c) 13 (d) - 13



'COMPLETE |, \:¥¥: K COURSE (For all govt. ex: sy ADITYA RANJAN SIR

100. Find the value
(1 1 1 3 £ L 3 B

2°272%27272%272) °f
(1 1
2 2
SSC MTS 8 August 2019 (Morning)
o a
(@) ) -

)
(c) 1 (d) 5



'COMPLETE |, \:¥¥: K COURSE (For all govt. ex: sy ADITYA RANJAN SIR

\30«9)\"' 105. The value of 9925- x 99 - 95 is :

c]o( )(01 e SSC MTS 9 August 2019 (Morning)
(a) 9897 (b) 9993
= (aa+ Z>=)a9-9S (c) 9999 k/‘d) 9801

A9
As X9~ 9
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95
@“ﬁ/ 105. The value of 99 __ x 99 - 95 is :
as 99

qe —— ¥ .
99 SSC MTS 9 August 2019 (Morning)
_ o l_,,?(g-ci/s (a) 9897 (b) 9993
(c) 9999 (d) 9801

g ﬁ@ﬁ%x-zg

4938001 F SO = G9R802(
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140. Approximate value of

0% - . -7 4 . b &
@\4 %-‘.—)/I-'@ ~—1g (4488 1&}01 7\)98) 1\5}99 is
SSC MTS 21 August 2019 (Afternoon)
DO
= 'H’\Z’ (a) 2.5 (b) 26

@ \/(g)/zs (d) 2.6
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C _ 1 1 1 1
4«‘:"" T2 7Y 149. U x = st 18.1a T1a15"" ' 2224
‘ _ 1 11 L1
- & Y~ 36.37 37.38 3839 " 71.72
Y= LY X
then ;‘ is equal to :
I 1
| .L———‘}:__'_ SSC CHSL 10 July 2019 (Eveni
Y: _, L 20 72, 72 uly (Evening)
[ T _ 1 1
o L2200 R) (a) 5 D) s
T Ty B @ (@3 ) 24
- 3
(c) \;dr



'COMPLETE |, \:¥¥: K COURSE (For all govt. ex: sy ADITYA RANJAN SIR

Svuit, 152. The value of 22.4 +11.67 - 33.59 is:
0 ﬁi\ Gﬁ’h Seed SSC CGL Tier-II (11 September 2019)
W g £ - “ (@o32Y (b) 0.412 X
L AT ENT

_ . 1
Lom(1,2,1) = Z(c) 0.31 [ (d) 0.412

© aktey decmal Have

,'S on \No- LD b Un
dolsn't have bas:
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154. The value of

k
S 0000= SoX10 ) (253)3 + (247)3
X1 = LBX10 25,3 x 25.3 - 624.91 + 24.7 x 24.7
k=3 is 50 x 10¥, where the value of k
is :

SSC CGL Tier-II (11 September 2019)

&/(63 (b) 4

(c) 2 (d) - 3



155. If (V2 +V5-+8) x k = - 12, then
-7 ¥ (5147“15- what will be the value of k?

K= s T (Z+sH2
(zHIS—5 SSC CGL Tier-II (11 September 2019)

-\'ZU'ZJ’_V_JE*I; s (a) (V2 + V5 ++/3

2+ +YI0+S+YS ¥ 43

NANG
—1z(J2t{S=+Jr

4(‘!*2\)—!:0

- Ul =T (@) (V2 + 5 +8)(2-V5)

—
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1 6 3
1—+2— f 55— e
156. The vale of ( 3 70 5)

(63+410f 51] X (Exzz : sofll)
5 2 3 4 3 9 S

= 1 + k, where k lies between :

SSC CGL Tier-II (12 September 2019)

(a) - 0.07 and - 0.06
(b) - 0.08 and - 0.07
(c) - 0.06 and - 0.05
(d)- 0.05 and - 0.04




'COMPLETE |, \:¥¥: K COURSE (For all govt. ex: sy ADITYA RANJAN SIR

158. The expression

\/10+2(\/3—\/E—\/ﬁ)

SSC CGL Tier-II (12 September 2019)

(a) V3 +v2 -5 (b) V3 -2 -5
(€) V3-V2++8 (d) y2-3 -5




'COMPLETE |, \:¥¥: K COURSE (For all govt. ex: sy ADITYA RANJAN SIR

159. The value of o.56-0.723+0.39x0.7
is :
SSC CGL Tier-II (12 September 2019)
(a) 0.154 (b) 0.154
(c) 0.158 (d) 0.158




'COMPLETE |, \:¥¥: K COURSE (For all govt. ex: sy ADITYA RANJAN SIR

163. The value of

2./10 J5 -2 3 .
JB+v2-y7 \JV5+2 J7-2 -

SSC CGL Tier-II (13 September 2019)
(@) 2 + 2 (b) 2.5
(c) V2 (d) V7




'COMPLETE |, \:¥¥: K COURSE (For all govt. ex: sy ADITYA RANJAN SIR

166. The value of
(4.6)" +(5.4)" + (24.84)?
(4.6)° +(5.4)" + 24.84

SSC CGL Tier-II (13 September 2019)

(a) 24.42 (b) 24.24
(c) 25.42 (d) 25.48

is :



'COMPLETE | \,/:Y§: &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

167. If '+' means '-', '-' means '+', 'X’
means '+' and '+' means 'X', then the

42 -12x3+8+2+15 |

value of 8x2-4:9-3 is :

SSC CGL 3 March 2020 (Morning)

S 15
(a) - 3 (b) - 19
15 S

(c) 19 (d) 3



'COMPLETE | \,/:Y§: &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

195. If '+' means '+', 'X' means '+', '+
means '-' and '-' means 'xX', then
what will be the value of the
following expreswsion?

18+3-5%x6+4

CHSL 14/10/2020 (Morning)
(a) 30 (b) 32
(c) 15.5 (d) 13.5



'COMPLETE |, \:¥¥: K COURSE (For all govt. ex: sy ADITYA RANJAN SIR

197. The value of

SB+7V2- V6 =2,

CHSL 14/10/2020 (Afternoon)
(a) O (b) 16
(c) 12 (d) 10




'COMPLETE |, \:¥¥: K COURSE (For all govt. ex: sy ADITYA RANJAN SIR

201. Find the value of 225 - [42 - {25 -

(18 - 18 +13)}].
CHSL 15/10/2020 (Evening)

(a) 222 (b) 231

(c) 223 (d) 244




comPLETE W BN cous

or all govt. exz BY ADITYA RANJAN SIR

3 [ 3
—r(2\3\(2x+3)_-2 J/2\§
m = [{l=1] ¢}
9 ’ —-
218. If# \3) 3, J

6

(3x+7) | 5

then the value of \/2 —42x is:

CHSL 18/03/2020 (Morning)

(a) S (b) 6
(c) 3 (d) 4




'COMPLETE |, \:¥¥: K COURSE (For all govt. ex: sy ADITYA RANJAN SIR

4
219. If 112+ a+by2+xJ/3-dJ6,

where a, b, ¢, d are natural
number, then the value of a + b +
c+dis:

CHSL 18/03/2020 (Morning)
(a) O (b) 2
(c) 4 (d) 1



'COMPLETE |, \:¥¥: K COURSE (For all govt. ex: sy ADITYA RANJAN SIR

223. The value of (Z.Z % 0.6 X 3 X 0.15)
x | 0.27 X (0.83 x 0.16)
CGL Mains Tier-II (15/10/2020)

is

-
——

(a) 0.814 (b) 0.11
(c) 1.1 (d) 1.36
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1 3+2V2 3-2y2
: + = J
paal T T T Y

then what is the value of

(3a + 4b)?
CGL Mains Tier-II (15/10/2020)
1
(a) 99, (b) 97
1
(c) 98 = (d) 98

3
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(/1875 /1200 J175
V3888 768 | * 1792

then  /x is equal to:
CGL Mains Tier-II (15/10/2020)

7 4
@) 15 b) o

5 5
(¢) 15 (d) 5
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227. The expression

15(6+5)
710 + 720 + 720 — /5 — /80 is equal
to:

CGL Mains Tier-II (15/10/2020)

(@) 5+22 (b) 5-2y2
(c) 5(3+2v2) (d) 10(3+2V5)
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0.0203 x 2.92

429. The value of o 0.0365x29 '

(12.12)° - (8.12)?
(0.25)% + (0.25)(19.99) 'S °

CGL Mains Tier-II (15/10/2020)
(a) 0.05 (b) 0.5
(c) 0.1 (d) 0.01
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231. If \/11_ 3.8 = a + by2, then what
is the value of (2a + 3b)?
CGL 2019 Tier-II (16/11/2020)
(a) S (b) 7
(c) 9 (d) 3
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7+3\/§_7—3\/§
3+\/§ 3—\/§

234. The value of

lies between :
CGL 2019 Tier-II (16/11/2020)

(a) 2 and 2.5 (b) 3 and 3.5
(c) 1.5 and 2 (d) 2.5 and 3
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236. If x = \/—\/§+\/3+8\/7+4\/§

where x > 0, then the value of x is
equal to :

CGL 2019 Tier-1I (18/11/2020)
(a) 2 (b) 3
(c) 4 (d) 1
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8 +2V15 1

237. The value of 5 - - T

is equal to :
CGL 2019 Tier-II (18/11/2020)

2
(@) 3 (b) 1

1 1
(c) 5 (d) 4
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250. The value of 7+ [S + 1 +2 - {4 +
(A0f2+4)+ (S+5 of 2)}] is:
CPO 23/11/2020 (Morning)

7
(a) 7 ) 5

7
(€)- 3 (d) -7



